
                      
        INSTRUCTION GUIDE  6858 - 6859 - 6860 - 686173

 Installation of a Grammer seat on a Grasshopper Mowers prior to 2010

                                                                     
  INSTALLATION SUPPORT

     
Phone 1-800-328-1752 / Web Site www.tractorseats.com

1

1. Unplug the OPS wires and remove the old seat from 
    the hinged plate.

2.  The slide rails should be set at 13” x 11”. Adjust if 
     necessary.

3.  Slide the seat to the rear position to attach the front of
     the slide rails to the 10994 Plate with two of the 
     5/16-18 x 3/4 bolts and flange nuts.
     Slide the seat forward to attach the rear of the slide 
     rails to the 10994 plate with two more 5/16-18 x 3/4 
     bolts and flange nuts.

4.  Install the 10994 plate and seat to the original hinged 
     plate with four 5/16-18 x1-1/8 bolts. 
     Place the flat washer on the bolt. Put the bolt and flat 
     washer through the 10994 plate. Place a spacer on 
     each of the bolts between the 10994 plate and the 
     hinged plate. Complete the attachment with a 
     5/16 - 18 flange nut. 
 
5.  On mechanical suspension 6861install the OPS into 
     the bottom of the seat cushion. 
    (See You Tube video at https://youtu.be/vQPOJjjDL1) 
     Attach the wiring harness 86419 to the OPS wiring
     harness. Connect the green wire and the white wires 
     on the harness to the two wires disconnected in step 1.

6.  On an air suspensions (Kits 6858-6859-6860) connect 
     the white wire and the green wire on the wiring harness
     to the wires disconnected in step 1.
    Connect the black wire to ground and the red wire
    to a fused 12 volt source. 
   (Note the mower has auxiliary fuses on the 
    console.)
      

HINGED PLATE ON MOWER.

10994 PLATE

FRONT

FRONT

5/16-18 X 3/4 BOLTS

5/16 FLAT 
WASHERS

5/16-18 X 1 1/4 BOLTS

5/16-18 FLANGE NUTS

5/16-18 FLANGE NUTS

SPACERS


